Opérations Mixtes (G)

Effectuez chaque opération.

12010 = 72+9 = 777 = 11x11=
108 +9 = 7010 = 6x8= 84 +7=
Ox11= 100 +10 = 42 -6 = 99 +11=
54+9 = 96 +8 = 10x 8 = 66 +6 =
8 x 10 = Ox11= 110+-10= 72+9 =
121 +11= 54+9 = 11x6= 7Tx8=
48 -6 = Ox7T= 8x11= 6x12=
9x9 = 12x7= 11 x12= Tx9=
8 x 8= 108 =12 = 9x9 = Tx12 =
568 = 49 +7 = 6611 = 99 11 =
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Opérations Mixtes Solutions (G)

120+-10=12

108 -9 =12

9x11 =99

54+9 =06

8 x 10 =280

121 =11 =11

48 -6 =238

9x9 =281

8 X 8 =064

56 -8=7

Effectuez chaque opération.

72+-9 =28

70+10="7

100+-10=10

96 +-8=12

9x11 =99

54+9=6

Ox7=63

12 x7 =284

108 +-12=9

49 7 =1

T7T+T7T=11

6 x8=48

42 -6="

10 x 8 =80

110+-10=11

11 x6=066

8x 11 =288

11 x12=132

O x9 =8I

66=-11=6

ITx11 =121

84 +-7=12

9+11=9

66-6=11

72+-9=38

7x8=156

6x12="72

7Tx9 =063

Tx12 =284

9 +-11=9
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